
R1
47k

V1

C1
470p

C2

1u

R2
270

C3 1000u

C4 1000u

Q1
BC546B

X1

220

R3
100

R4
15k

R5
100

Q2
BC556B

Q3
BC556B

Q4

BC337_40

R6
100

R7 100

C5 22p

Q5

BC546B

C6 220uf

R8
820

C7 220p

R9 2.4k

Q6
BC337_40

R10 100

Q7
BC556B

R11
510

R12
2.4k

Q8
MJE340

R13
1.8k

C8 0.1u

X2
1k

R14
51

Q9
MJE350

Q10
BD139

R15
15

R16 100

R17 100

R18 22

R19 22

Q11
2SC5171

Q12
2SA1930

R20
51

C9
0.1u

R21
10

R22 3.3

R23 3.3

Q13
MJL21194

Q14
MJL21193

R24 47k

R25
0.22

R26
0.22

C10
4700u

C11
4700u

R30
8

V2

48

V3

48

R31
1000

R32
22k

C13

1u

ЭКВИВАЛЕНТ АС OUT



R1

POTSIZE*PERCENT/100

R2
POTSIZE-R(R1)

.HELP POTSIZE "Maximum resistance value"

When this macro is placed in a schematic, the two
parameters will determine the initial pot setting.  Percent
is in % so 70% would be given as 70 and not .70.
To step this macro, go to stepping and choose to step
MACROPARTNAME.R1  VALUE (ie; X1.R1  VALUE).  
The stepping will override the percent parameter.  See 
POTDEMO.CIR for an example.

PINC

PINB

PINA

.PARAMETERS(POTSIZE=10K,PERCENT=50)

POT MACRO

.HELP PERCENT "Percent of Potsize between PINA and PINB"
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